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Outcome 3 - "Triple" Brackets

Bronze examples...

Examples...

Multiply everything
in second bracket by x!

(x+ 1)(x? + 5x + 3)

x% +5x? +3x +x?+5x +3

Multiply
everything
in second
. bracket by 1l

(x+4D)(x?2+8x+7)

= x3 +6x% +8x +3

x3 +8x% + 7x + 4x% + 32x + 28

3 242 Oy 4 99
= x° +12x“+ 39x + 28 Simplify!

Silver examples

Multiply everything

Examples...
in second bracket by x|

(x— 1)(x%+ 5x + 3)

=x% +5x2 +3x —x2—-5x -3

Multiply
everything
in second
bracket by -1l

=x* +4x* —2x -3

(x=D(x*+9x+2)
x® +9x% +2x —4x? —36x — 8

x* +5x? —34x—8 Simplifyl

Gold examples

Examples... Multiply
everything
in second

bracket by x!
(x—1D)(x?—-5x—-9)
=x%-5x2 —9x —x?+5x +9
x? —6x? —4x+9 Multiply
everything
in second
. bracket
(2x = 7)(x*+4x = 5) by -1l
2x3 +8x% — 10x — 7x% — 28x + 35

2x* +x? —38x + 35 Simplifyl

Bronze Questions s Silver Questions s
f;li:l;ﬁl;he & (+1D2+3x+8) 3 Expand the following triple brackets... Yy
E:E(':eke'rs... - (x + 3)(x2 +4x+7) L (- 1)(x2 +3x+8)

a2 (x + D)% +x + 11) 2 (x—3)(x2+4x+2)

4 (x+6)(x*+6x+9) o (x—4)(x%+2x+15)

5 (+7(*+3x+10) 4 (x—6)(x*+8x+3)

§ (x+10)(x*+5x+3) 5 (x—7)(x*+4x +10)

Z (+8)2+2x+1) & (x—10)@x*+5x+7)

8 (x+2(*+7x+9) * (X_S)(xz+6x+3)

. 8 (x—2)(x*+9x+4)

] +9G"+8x+11) 8 (x-9)(?+2x+11)

H  (+1Dx*+2x+3) A8 (k=112 +4x+3)

Gold Questions w
Expandthe & (X — 1)(x? — 4x — 3) j,nn/

F 4 weoeone
w (@=5*-x-11)
4 @-6)x*+7x-2)
5  (x—7)(x*+4x—10)
8 (x—-10)(x%2+6x-2)
Z QBx—-7NDE*-2x-1)
8 Gx-1)x*-3x-2)
2 (7x — 3)(x? + 2x — 10)
8 Bx—-11)*2+x-8)
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Bronze Answers

1. *+4x?+11x+8 2. X +7x?+19x+ 21
x2+5x24+15x+44 4. x* 4+ 12x%+ 45x + 54
x34+10x2+31x+70 6. x* 4+ 15x2+53x+ 30

x4+ 10x%24+17x+8 8. x34 9x?423x+18
¥+ 17x2+83x4+99 10. x* +13x2 +25x+ 33
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Silver Answers

x>+ 2x?+5x-8 2. P +x*=-10x—-6
P =2x2+7x—-60 4. x3+ 2x2—-45x—- 18
x3=3x2—-18x-70 6. x* —=5x2—43x-70

x¥—2x2—-45x—-24 B. x*+7x*—-14x-8
x*=7x2=7x-99 10. x*— 7x?—41x—-33
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Gold Answers

1, x¥—5x2+x+43 2, x¥5x2 —x+21
3. ¥ —6x?—6x+55 4, x34+x? —44x+12
B. x3—3x2—-38x+ 70 6. x3 —4x% —62x + 20

7. 3x3—13x24+11x+7 8. 5x¥—16x*—-Tx+2
9., 7x¥+11x2 —76x4+30 10. 3x* —8x%Z — 35x + 88
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